Testing .pdf file

 $\sum_{p=2r_{i}-(12)[1-\log A_{i}]}^{p-2r_{i}} x_{i} - y_{i} \sum_{p=2r_{i}+(12)[2A_{i}-4Q_{i}]}^{p-2r_{i}} \sum_{p=2r_{i}-(12)[1-\log A_{i}]}^{p-2r_{i}} p_{i} \sum_{p=2r_{i}-(12)[1-\log A_{i}]}^{p-2r_{i}} \rho(x) = -G(-x^{2})/[xH(-x^{2})].$ k=0 $\begin{array}{l}
\theta - \alpha_{0} \leq \pi/2 + 2\pi k, \quad p = 2\mathscr{V}_{0} + (1/2)[sg A_{1} - s] \\
A_{j}\rho^{j}\cos\left[(p - j)\theta - \alpha_{j}\right] + \rho^{p}, \quad p^{-2r_{s}} + (1/2)[sg A_{1} - s] \\
\mu^{p-2r_{s}} = \prod_{j=0, j \neq p} \rho^{p} > \sum_{j=0, j \neq p}^{n} A_{j}\rho^{j}, \quad \Delta_{L} \arg f(z) = (\pi/2)(S_{1} + p^{p})(z) \\
= \prod_{j=1}^{p-2r_{s}} (u + u_{k})G_{0}(u), \quad \mu^{p-2r_{s}} + (1/2)[sg A_{1} - s] \\
\mu^{p-2r_{s}} = \sum_{j=0, j \neq p} (u + u_{k})G_{0}(u), \quad \mu^{p-2r_{s}} = \Re[\rho^{p}f(z)/a_{p}z^{p}] = \Omega \\
\end{array}$ $\pi k \leq p0$ – $\begin{array}{c} \prod_{j=0,j\neq p} (z_{j}) ($

Testing .pdf file

Testing .pdf file

Testing .pdf file

Testing .pdf file